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plot (Im(y~x)) (XODODOooooo)
dev.copy2eps(file="1m.eps" ) (epsO0O00O000O00O0)
dev.off(Q (epsCOOOOODOO)
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HEEgRREEN

$ R

(ooobooooooooooboog)

> 1+2 # 1+2 U 0O0O

[1] 3 # UJ0OO 3

>x<-5 #000000x=5,5->x 0000
> qQ #ROOODOOOOOOOOOO

Save workspace image? [y/n/c]l: vy

$

Joobodotdbotobobtdboobbotoboooogbotdogood
ool .Rbata U OO UOULODODOUOOLODOUOOOON
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ROODOOOOOOOUOOOOOOOOOOO exl.datOOO QOO
O0000ooooobodd rowl,coll D00 0OOOOOOOO
[l

coll col2 col3
rowl 3.9 7.7 male
row2 4.5 5.3 male
row3 8.3 9.2 female

> X <- read.table(file="exl.dat") # DUUO0OUOOOUOOO xOOO

> X # 00O0O0O0O
coll col2 col3

rowl 3.9 7.7 male

row2 4.5 5.3 male

row3 8.3 9.2 female
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Jo00doodooodoo *gopogoCsvouooood
ex2.csv

> read.table(file="ex2.csv" ,header=TRUE, sep="," ,na.strings="*")
coll col2 col3

3.9 7.7 NA

4.5 5.3 2.8
3 8.3 NA 3.2

N =

Oo0oooooooo 1,23 00000000 NADOOOOOO
HEN
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OO0o00dnon
Oooodnbd
>y <- x[, "col3"] # U0 x0O0O 300
>y # yoOoooooQO
[1] NA 2.8 3.2

> save(y, file="ex3.dat") # 00O00O0OO0OOO
> rm(y) # yu o

>y # 00O0OOoOOO
Error: Object "y" not found
> load(file="ex3.dat")

>y

[1] NA 2.8 3.2

# J0oooooon
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> X # O00000OOO x
coll col2 col3
1 3.9 7.7 NA
2 4.5 5.3 2.8
3 8.3 NA 3.2
> x["1", "col2"] # x[1,2]0000
[1] 7.7 # (1,2 OO0
> x["2",] # 0200000000000000O«x[2,]0000

coll col2 col3

2 4.5 5.3 2.8

> x[, "col3"] # x[,310000

[1] NA 2.8 3.2 # 0300000000000
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> x <- ¢(1,2,3,4,5) # 000 0O0O0OOx <- 1:5 0000
> X
[1] 1 2 3 45

> x[2] # 02000000
[1] 2

> x[-2] # 0200000000
[1] 1 2 45

> x[c(2,4)] # U 2,4000000
[1] 2 4

> X2 # O0UO0O0OOOO

[1] 1 4 9 16 25

> sin(x) # 00O 0O0O0OO

[1] ©0.8414710 0.9092974 0.1411200 -0.7568025 -0.9589243
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> (x <- matrix(l:6, ncol=3, nrow=2)) # U0UUO0QO
[,11 [,2] [,3]

[1,] 1 3 5

[2,] 2 4 6

> x[1,2]
[1] 3 # 0 (1,2000000
> x[1,]
[1] 1 3 5 # U 100000
> x[,2]
[1] 3 5 # U 200000
> x[,-2] # 00O
[,1]1 [,2]

[1,] 1 5
[2,] 2 6
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> (x <- list(1:3, runif(2), c("a","b","c"))) # UUUOLUOD
[[1]]

[1] 1 2 3

[[2]]

[1] 0.2926533 0.1882483

[[3]1]
[1] "a" "b" "c"

> x[[1]] # 00000100 cQbooo)ooon
[1] 1 2 3
> x[[1]1]1[2] # 000200

[1] 2
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mean(x, trim = 0, na.rm = FALSE, ...)
mean (x) Oo0ond
mean(x, trim=0.3) Odoogn

mean(x,na.rim=TRUE) O O0OOOO
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OO000000000000d library(xxx)
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Unix-like 00O OO0 R CMD INSTALL xxx.tgz 0 0O

000000000000 O0OnoO library(help=xxx)
> library(help=MASS) # MASSOOODOO0ODOOOOOOOOO

> library (MASS) # MASSOOOOOOOOO
> 71soMDS # MASSOUOOOOOOOLOOoOOO
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000o0o0dooodd kannsuu.R O 0O O

MeanAndVar <- function(x) {
a <- mean(x) # x OO0
b <- var(x) # x OO
return(list(mean=a, var=b)) # UUUOUOOOOOMO

}

00 source OO0 ROOOOO

O000 ROODOOOOoOoOoOooooOn

> source("kannsuu.R") # U0O0O0ODO0OOOOODO0O
> MeanandVar(1:10)

$mean

[1] 5.5

$var

[1] 9.166667
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OOO0O0000000 (method dispatch)

> X <- 1:10; y <- rnorm(10)+0.1*1:10 # DO OO0 O

> Lm <- 1Im(y™x) # 00O OO
> class(Lm)
[1] "1m" #lmOUOOOOOODO"Im"CUODOOOO)

> summary (Lm) # summary D OO OO0 (OO summary.1mO 0O 00O )
Call:

Im(formula = y ~ x) # OO0 OO
Residuals: # 00O0O0OS000
Min 1Q Median 3Q Max

-0.7710 -0.5735 -0.4293 0.5210 1.9307
Coefficients: # O00O0DOD0O0OO



Estimate Std. Error t value Pr(>|t|)
(Intercept) 0.02946 0.63499 0.046 0.964
X 0.10996 0.10234 1.074 0.314
Residual standard error: 0.9295 on 8 degrees of freedom
Multiple R-Squared: 0.1261,Adjusted R-squared: 0.01688 # R0 U [
F-statistic: 1.155 on 1 and 8 DF, p-value: 0.3139

> str(Lm) # .m0 O O0O0OUOOO0OO0OO0OOOO

List of 12
$ coefficients : Named num [1:2] ® 0295 0.1100
..— attr(*, "names")= chr [1:2] "(Intercept)" "x"

$ residuals : Named num [1:10] 0.629 -0.576 ®.771 -
..—- attr(*, "names")= chr [1:10] "1" "2" "3" "4"
$ effects : Named num [1:10] -2.006 ©0.999 ® 832 -

..— attr(*, "names")= chr [1:10] "(Intercept)
cdbood)
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> par(mfrow=c(2,2)) # 0004000000000 000000000O0O
> plot(Lm) # plotUUOOO (OO0 plot.ImO OO OO )
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> x <- 0.3; £f<-1if (x> 0) cos else sin # if0000O0OO0O
> f

function (x) .Primitive("cos") # cosU U IO

> f(pi/2)

[1] 6.123032e-17

> X <- 1list(l:4, cos, c("A","B")) # DU UUOD0O0O (UUOODOOO)DO
Oo0gdg

> for (i in x) print(length(i))

[1] 4

[1] 1

[1] 2
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apply0 000000000 0O0O0OOO0O0O0O0OOOO0O0O0O0O0
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forUD0000O0O0O0OOODOODOOOOO0O

## XU OO 4x30 0 O

> apply (X, 1, max) # 00000000000
[1] 9 10 11 12

> apply (X, 2, max) # OO 0OOOOO0OO
[1] 4 8 12

> apply (X, 1, sum) # 000000000
[1] 15 18 21 24

> apply (X, 2, sum) # U0OUODODO0OOODO
[1] 10 26 42
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> 0000 <- function(O O, OO) {
OO00000BMI <- OO/00 72
if(U00000 BMI < 18.5) cat("OO0O0OoooOoOogo\n")
else if(UOOOONOBMI < 25 cat("UUUOUODOOOONN
else if(UO0O0OO0OBMI < 30) cat("UO OO OOODON\Nn
else cat("UU OO UOOUOOON\n") }

> 00000 (167, 61)

OOo00oooggoono
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> dnorm(1l, mean=2, sd=3) # N2,900000 £f(H OO

[1] 0.1257944

> pnorm(1l, mean=2, sd=3) # 00O OO F(1)

[1] 0.3694413

> qnorm(0.05, mean=2, sd=3) # UUUOUOOOOO F(-2.934561)=0.05
[1] -2.934561

> rnorm(3, mean=2, sd=3) # OO0 O0O0O 3000

[1] 5.287193 -0.211181 4.648124
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00000 hyper 000000 Inorm
HEREREREINRERERE logis O4dod multinom
002000 nbinom | OO0 OO norm
Oooooon pois too t
0000 unif OO0O0O000 weibull
OO0000O0000 wilcox Oo0O0dnod birthday
Ododoogn sample | 000000 r2dtable
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ooodo sin cos tan
asin asin atan atan2

hyperbolicll[1 | cosh sinh tanh
asinh acosh atanh

Ooooooo log logb log10 log2
exp expmi log1p

Dooood choose Ichoose factorial Ifactorial
combn

Ooog sign abs

Ooooo cumsum | cumprod cummax cummin
diff

Ooooo beta Ibeta gamma Igamma
digamma | trigamma tetragamma | pentagamma

Oooood bessell besselK besselJ besselY

Oogdo ceiling floor round signif
zapsmall | trunc

ooodo union intersect setdiff setequal
unique Is.element

Do00ooo sort order rank
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> X <- rnorm(365, mean=950, sd=30)

> y <- sapply(1:365, function(i) max(rnorm(500,mean=950,sd=30)) )
> par (mfrow=c(1,2))

> hist(x); hist(y)
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> A <- matrix(runif(250000),500,500) #5000 00000
> system.time(A %*% A) # A20000000
[1] 0.090 0.005 0.097 0.000 0.000 # 0.0900
> test <- function() { # A200000000000
B <- matrix(®, 500, 500)
for (1 in 1:500) { for (j in 1:500) {
x <- 0
for (k in 1:500) x <- x + A[i,k]*A[k,]j]
B[i,j] <- x }
}
return(X)
¥
> system.time(test())
[1] 930.993 0.749 1025.462 0.000 0.000 # 9310 (103440 !)
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> X <- rbinom(1l, 1le8, 0.2) # JUooe-1000 (1000 8.2)

# 00000000000 0O0O000O
> A <- sapply(1:1000, function(i) mean(sample(X,2000)==1))
> boxplot(A-0.2) # UUOOOO0O0OO
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Nelder-Mead ] | OO0DOOO0OO(@ODOO)

BFGSO (0000000

CGL (Do boooooooooon
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otim() 00 0000O0O0O0OOOOOOOOOOOOOONO

> fw <- function (x) 10*%sin(0.3*x)*sin(l.3%x"2)
+0.00001*x"4+0.2*x+80
> plot(fw,-50,50,n=1000)
> res <- optim(50, fw, method="SANN", # SANNOOOOOOOOO
control=1ist(maxit=20000, temp=20,parscale=20))
> r2 <- optim(res$par, fw,method="BFGS") # BFGSO OO O

> c(r2$par, r2$value) # 0000000
[1] -15.81515 67.46773 # JUUO0UOOOOO-15.81515
> plot(fw,-50,50,n=1000) # 00000000

> points(r2$par,r2¥val,pch=8,cex=2,col="red") # OO 0O OO0 O [
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